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NEW REVISED EDITIONS (August 2014)

Note from the author:

At the time of writing this note, this is the third in a series of books revising the Mathematics in the
New Zealand Curriculum series of resources that were first written several years ago. As each new
revised edition is available, it will be advertised on my website.

WWwWw.awsresources.co.nz

If you would like to pre-order any book, please let me know so that | can keep you informed about
the expected publication dates.

About this book ...

A Complete Guide to Numbern& Algebra
Level 2 - Year 4 (Code: NAL2b)

A series of In-Class Worksheets for Curriculum Level 2

This is one of two books written to cover the Level 2 Achievement Objectives as outlined in the Mathematics in the
New Zealand Curriculum (2008 revised edition) document.

These books have been written to support the Numeracy. Professional Development Project and National Standards as
currently being implemented within New Zealand schools.

Two Level 2 Books (See table below):

Book 3 (Code: NAL2a) covers aspects of thé New'Zeéaland Curriculum Level2 Achievement Objectives as suggested
in the National Mathematics Standards - Year 3.

Book 1 presents questions in a formatthat allows students to Use/Strategy Stages 4 & 5/

Book 4 (Code: NAL2b) revises alhYear. 1 areas and caVers the New Zealand Curricdlum Level 2 Achievement
Objectives as indicated by thé\National Mathematics,Standards - Year 4.

Book 2 presents questions ima format that allowsstudents to use Strategy Stages 4.& 5.

These books replace./ complement the highliy#successful series of books called...
A ConipleteGuide to Number ~dkevel 2 and’A Complete Guide tofAlgebra - Level 2, first published in 1998.

How to use this series: Number & |Suggested Year curriculum Strategy
The table opposite shows the suggested Book Algiki)rgeiook (un%sed) Level CS;\?Sreesd
Year Group each book has\been (will be)
written for, but this i§lenly.a suggestion. 1 NALla 1-2-3 1 lto3
Itis up to the cla§sroomteacher to make 2 NAL1b 1-2-3 1 lto4
the final decision as te:which book to use. 3 NAL2a 2-3-4 1-2 485
Example: 2 -3\.- 4 means it is likely to'be 4 NAL2b 3-4-5 2 48&5
used at Year 3, the bold underlined 5 NAL3a 4-5-6 2.3 48&5
number.

6 NAL3b 5-6-7 3 5&6
There ar'e 2 books for Curriculum Levels 1 - NAL4a 6-7-8 3-4 687
to 4. This allows you to have a new set of =
worksheets available each year for classes 8 NAL4b 7-8-9 4 6&7
which are made up of mixed year groups. 9 NAL5 8-9-10 7&8

PO Box 21304
Edgeware
CHRISTCHURCH 8143
NEW ZEALAND

& (03) 3380516 or =) (03) 338 0514
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New Zealand Curriculum Level 2

National Standards

In a range of meaningful contexts, students will be
engaged in thinking mathematically and
statistically. They will solve problems and model
situations that require them to:

In contexts that require them to solve problems or model

situations, students will be able to:

Year 3

Year 4

Number strategies

. (NA2-1)* use simple additive strategies
with whole numbers and fractions

Number knowledge

. (NA2-2)* know forward and backward
counting sequences with whole numbers to
at least 1000

. (NA2-3)* know the basic addition and
subtraction facts

. (NA2-4)* know how many ones, tens, and
hundreds are in whole numbers to at least
1000

. (NA2-5)* know simple fractions in
everyday use

Equations and expressions

. (NA2-6)* communicate and interpret
simple additive strategies, using words,
diagrams (pictures), and symbols

Patterns and relationships

. (NA2-7)* generalise that whole'numbers
can be partitioned in many,ways

. (NA2-8)* find ruleSiforthe next membenin
a sequential pattern:

Note: (NA2-1), (NA2-2), (NA2-3), etc. are codes o
indicate which Number or Algebra Achievement
Objective isbeing covered in the various
worksheets.

In the table of contents on pages#& 5, these
codes will be used to indicate the achievement
objectives being covered in‘@achawvorksheet.

. apply basic addition .
facts and knowledge of
place value and
symmetry to: - combine
or partition whole
numbers- find fractions
of sets, shapes, and
quantities

. create and continue
sequential patternswith [\
one or two variables by
identifying’the unit of
repeat

. continue spatial patterns
and ‘number patterns
based on simple
addition or subtraction.

apply basic addition and
subtraction facts, simple
multiplication facts, and
knowledge of place value
and symmetry to: -
combine or partition whole
numbers- find fractions of
sets, shapes;and
guantities

createj¢ontinue, and give
the rulefor, sequential
patterns with two variables

create‘and continue
spatial patterns and
number patterns based on
repeated addition or
subtraction.

Black-line Photocopy Masters - PDF version

Data Projector / Inter-active Whiteboard version

Each resource will be available in the following versions, making this series a versatile resource to have:

o Black-line Photogepy Masters - Book version

o Student Workbook (non-photocopiable) version*

* Student Workbooks are printed to order with your school name on the cover, with or without answers.

A similar series of books covering Measurement & Geometry and Statistics for levels 1 to 5 will be available in the
future. These books will replace / complement the highly successful series of books called ...

A Complete Guide to Measurement, A Complete Guide to Geometry and A Complete Guide to Statistics.

Copyright © 2014 AWS Publications Ltd

NAL2b




Worksheet

Page Number

7 1

NA2-2

Table of Contents:

Number Identification

(1 to 1000)

AO Worksheet Content Learning Outcome:

In this worksheet students are learning to read and write the
number words and the numerals up to 1000 and including
‘teen’ and ‘ty’ numerals.

In this worksheet students are revising how to use a number
line to write in the missing numbers in a short sequence and
write numbers in order from smallest to largest or largest to
smallest.

10 4

11 5

NA2-3

12 6

13 7

Number Knowledge
‘Family of Facts’

(Combinations up to 10)

In this worksheet students are revising the 'family of facts’ for
number combination up to 10.

In this worksheet students are using a numbet line to revise
addition combinations that involves no carrying.
Example: 21+3=2,94+5=7?, 77+2=7, efC.

In this worksheet'students are using anumbenline to revise
addition combinations that involves norenaming.
Examplein24 -3=12, 99-5=7, 79-2 =7, etc:

In this worksheet student are revising,the.aumber knowledge
facts presented Worksheets 4 & 5, in‘one of three ways.
Example: 644 +3=?, 3+71527?, 247-5=2?

In,this worksheet student arefrevising the number knowledge
facts presented in Worksheets4'& 5, in one of fourdways.
Example: 46+ ? = 49{0 2 + 135)= 138, 65-2=7, 368-7 =364

14 8

15 9

16 10

17 11

NA2-3

18 12

19 13

20 14

Number/Knowledge
‘Family of Facts:

(Combinationsgl1 tesd8)

In this worksheet'students)are revising the "family of facts’ for
number combination'11 to 18.

In this worksheet students are using a number line to revise
additionicombinations (11 to 18), bycounting on.
Example:t 28 +3=7?, 74+9=7?, 67 +5="7, etc.

Indhis worksheet students aresing a humber line to revise
subtraction combinations (11/to 48), by counting back.
Example: 51+7=7?, 42+8=2, 9546 =", etc.

In this worksheet students@rélearning to write two equations,
given two points on@mhumber line.
Example: Points 26 & 31, 26+ ? = 31 is the same as 31 - ? = 26.

In this worksheet students are revising the ‘adding to 10’ and
10+ strategies

In this werksheet 'student are revising the number knowledge
facts presented Worksheets 8 to 11, in one of three ways.
EXxaffiple: 206/+9=?, 8+423=7?, 621-8="?

Inthis,werksheet student are revising the number knowledge
facts presented in Worksheets 8 to 11, in one of four ways.
Example: 57+? =64, ?+743=752, 61-6=7?, 782-?=775

21 15

Assessment.l

This worksheet provides an assessment to see what your
students have remembered so far.

22 16

23 17

24 18

NA2-2

25 19

26 20

27 21

Number ldentification
(1000+)

Understanding Place Value

In this worksheet students are learning to read and write the
number words and the numerals greater than 1000.

In this worksheet students are learning to understand place
value in 4-digit numbers.

In this worksheet students are learning to rename numbers by
understanding place value.

In this worksheet students are learning to add numbers by
adding numbers with the same place value.

In this worksheet students are learning to subtract numbers by
adding numbers with the same place value.

In this worksheet students are learning to add numbers
involving carrying on the first digit.

28 22

Assessment 2

This worksheet provides an assessment to see what your
students have remembered so far.

29 23

NA2-1
NA2-3

30 24

31 25

Number Strategies for
Addition & Subtraction

In this worksheet students are learning to add 3-digit numbers
by using their knowledge place value (no carrying).

In this worksheet students are learning to subtract 3-digit
numbers by using their knowledge place value.

In this worksheet students are learning to add 3-digit numbers
by using their knowledge place value (carrying on 1st digit).
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Table of Contents:

Worksheet ; .
Page "\ mper AO Worksheet Content Learning Outcome:

In this worksheet students are learning to add by rounding to

32 26 form ‘tidy’ numbers.
33 27 In this worksheet students are learning to subtract by rounding
to form ‘tidy’ numbers.
34 28 mﬁgé Numberfg:rategles In this worksheet students are learning to subtract by using
NA2-4 " . addition on a number line.
- Addition & Subtraction
35 29 In this worksheet students are learning to add by lining up
numbers in place value columns.
36 30 In this worksheet students are learning to add larger numbers
by lining up numpers in'place value columns,
This worksheét provides an assessment te see whatyour
37 31 Assessment 3 students have remembered so far.
38 32 In thisdworksheet students are learning skip‘eounting in 4’s up
te40and on number lines for numbers, Lo 1000.
39 33 NA2-2 Skip Counting 4’s In .this Wor.ksheet students are’solving word problems involving
NA2-6 & skip counting 4’s.
40 34 mﬁg'g 2x Multiplication Facts In this worksheet studénts are fevising skip countirig.and
) forming groups of 4 andywriting the 4x multiplicationfaets.
a1 35 In this worksheét students are learning to work.eut how many
groups of‘4.occurin a number and find remainders (if any).
42 36 In thisworksheet students are learning more about sharing in
groupsof 2's,,10's, 5's, 3's & 4's afid write as a division facts.
43 37 NA2-2 Multipli€ation & Division In t.hi.s Worksheet students areflearning the multiplication &
NA2-6 divigion*family of facts’ for 2's,\5's &10's.
NA2-8 ‘Family of Facts’ In this worksheet studerits are learning the multiplication &
44 38 division 'family of facts’ for 3's & 4’s, and work out questions
presented, in one Of four ways.
Example: 4x5=2,0 4x2=24, 32+4=?, 36+?=9
This worksheet provides an assessment to see what your
45 39 AssessmMenTQ students have remembered so far.
46 40 In thisiworksheet students are revising how to write fractions
and what they mean and then work with these fractions.
NA2-5 . . . In this worksheet students are learning to use multiplication
47 41 NA2-7 glorkirggith Fractions facts to find a given fraction of a number.
48 42 In this worksheet students are learning to use division facts to
find a given fraction of a number.
This worksheet provides an assessment to see what your
49 43 Assessmegls students have remembered so far.
50 44 In this worksheet students are revising how a sequence of
Gontinbing shapes / letters was created and continue the sequence.
51 45 NA2-8 and In this worksheet students are revising how a sequence of
ereating numbers was created and continue the sequence.
52 46 Sequences In this worksheet students are learning to work out a
sequence of numbers when given a rule.
This worksheet provides an assessment to see what your
=3 a7 Assessment 6 students have remembered so far.
This worksheet provides an assessment to see what your
o4 48 Assessment 7 students have remembered so far.
This worksheet provides an assessment to see what your
25 49 Assessment 8 students have remembered so far.
56 50 Assessment 9 This worksheet provides an assessment to see what your

students have remembered so far.

Answers
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’ Name:

1 I\ ¥

g I am revising how to read & write
> number words for 3-digit numbers.

Using number words ...

eleven, twelve, thirteen, fourteen, fifteen, sixteen,
seventeen, eighteen, nineteen, twenty, thirty, forty,
fifty, sixty, seventy, eighty, ninety, hundred

one, two, three, four, five, six, seven, eight, nine, ten,

Write the 3-digit numerals that
match these number words.

four hundred and
sixty-seven

€8]

one hundred and

@ . .
fifty-eight

seven hundred and

(3) )
sixteen

eight hundred and

“) )
twenty-five

two hundred and
seventy

©)

nine hundredand

®) ,
twenty-nine

two hundred and

) ,
sixty-three

three hundredrand

®) ,
fifty-four

seven hundred and

©) ,
eighteen

four huindred and

(10) )
ninety-three

one hundred and

(1) ,
forty-nine

three hundred and

(12)
twenty-four

(13)

five hundred and eight

six hundred and
thirty-one

(14)

Wprite the number words that match
these 3-digit numerals.

&

s) 235
(16) 942
an 118
(@8) 653
(19) 896
(20) 370
@1) 724
22) 168
23) 547
(24) 489
(25) 951
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’ Name:

g I am revising using number lines and

ordering numbers from 1 to 1000.

<

Number lines go on forever ....

Y

496

? ? 499 pelolelM 501 2

What numbers are missing on this number
line?

Answer: 497, 498 & 502

A 4

Werite in the missing numbers on
each number line.

4
<

Y

@ 263 264

@ <: : 55:35 55:36 K
©) — 7;1 : 7:73 -
4 ) 2(;1 : : 2(:)4 N
®) W4 4;5 ! 42:37 :>
® ( 93:8 : 94:10 : e,
™ ( scio | ! 8(:)3 :>
©) — : 6;9 7(:)0 —
(10) ) : 3(50 3(:)1 : : ’

Write these whole numbers in
order of smallest to largest.

(11)

573

326 | 641

437

214

(12)

461

692 | 806

516

729

360

(13)

936

228 | 745

382

863

554

Wrife these wholeynumbers in
order of largest to smallest.

(14)

274

629 | 981

547

392

218

(15)

654

8727 491

945

857

719

(16)

190

385 | 446

909

658

864

Rewrite these 3-digit numbers to make
the smallest and largest numbers you can.

593 271
a7
smallest | largest smallest | largest
182 674
(18)
smallest | largest smallest | largest
263 758
(19)
smallest | largest smallest | largest
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n ’ Name:

g I am revising the ‘family of facts’ for 1+ 7 = - -
>% addition and subtraction . (13)
+ = - =
Can you work out the answer to these facts?
1+2=?, 2+127,3-1=2,3-2=2 | 2+6 = - =
These are known as a 'family of facts'. + = - -
Learning the basic ‘family of facts’ will 34+ 5= ) ,
make finding answers easier in the (15)
future. Time how long it takes. + = 1 =
(1 1 +1-= - = (16) 4 ¥4 = < =
1+ 2= - = 1 + 8 = - =
2) @n
+ = - = + = - =
1+ 3= - = 2 + 7 = - =
(3) (18)
+ = - = + = - =
@ 2+ 2= - = 3+ 6 = - =
19)
1+ 4 = = = _ _
®) s i -
+ = - = 4 . 5 ¢ ) -
2 + 3 = - A (20)
) + = - =
+ = - =
14 9 = - =
1 + 5= _ - (21)
(©) + = - =
+ = - =
2 + 8 = - =
2 + 4_= - = (22)
(8) + = - =
+ = 2 =
3+ 7 = - =
(9) 3 +3 = 3 = (23)
+ = - =
(10) 1 + 6 = - =
4 + 6 = - =
+ = - = (24)
+ = - =
2 + b = - =
(11) (25) b +5H = - =
+ = - =
3+ 4 = - =
12)
+ = - =

Copyright © 2014 AWS Publications Ltd 9 NAL2b



n ’Name:
/ T am revising how to add using a number
> line and write simple equations. (12)  «—A———f—F—F—+—+++—> O/ +2=
51 52 53 54 55 56 57 58 59 60
Number lines can be used to work out
answers. Add3+6=? 13) <«—++++++++++—> 84+3=
80 81 82 83 84 85 86 87 88 89
1 1 [WYW\ 1 1
("V'"'"")(14)‘::::::::::,43+3:
1 2 3 4 . 6 7 8 E 11 38 3940 41 42 43 44 45 46 47
Mark 3 on the number line ... then count on T
! _ (15) <« b+ 1+ > +14 =
6 more. Answer: 3+6=9 6970 717273747576 77 78
Add these numbers by drawing on the 93+ 5
i ) 5 @) et t+++—+—+—+++=25 +bH=
number lines. Write an equation for each. W1 92 93 94 95 A7 98 99
+ 2
@ Y "2 W 12+2= a7) NSNS SV VR 51+ 5=
8 9101112131415 16 17 48 49 50 51 52 53 54 55 56 57
@ O+ttt 3% 3= (18) — 63 +6 =
28 29 30 31 323334353637 61 62 63 64 65 66 67 68 6970
3 R S S S 45 + 2 = (19) e 24 + 4 =
43 44 45 46 47 48 49 50s51 52 23 24 25 26 27 282930 31 32
@ — - — 61+4:- (20) R B T 71+7 =
58 59 60 6162 63 6465 66 67 70717273 747576777879
(5) f—t—t—+—+O++++—> H3+2= @y et 4—+++++++—> 82+H=
48 49 5051 52 53 54 55 56 57 79 80 81 82 83 84 85 86 87 88
(6) — 76 + 3= (22) «——~+—+—+—+—+++++—> 91+8=
73747576 77 78.79 80 8182 90 91 92 93 94 95 96 97 98 99
@ iSO 92 + 3= @3)  «—A———+—+—++—+++—> 43 +4=
88 89 90 91 92,93 94 95 96 97 3940 41 42 43 44 45 46 47 48
® +O+—+—+++++5 86+2= 24 «———+—++—+++++—> B4 +5H=
84 85 86 87 88 89 90 91 92 93 53 54 55 56 57 58 59 60 61 62
© ——-Q——————— 55 +4 = @5  «—A—4——4—+—+—++++—> 62+6=
53 54 55 56 57 58 59 60 61 62 60 61 62 63 64 65 66 67 68 69
(10) —O—+———+———+ 31+6= 26)  «——————+—+—+++— 71+6=
30 31 3233 343536373839 68697071727374757677
) —O—+—+—+—+—+—+—+ 65+ 3= @7 «——————+—+—+++—> B2 +7 =
64 65 66 67 686970717273 51 52 53 54 55 56 57 58 59 60
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n ’ Name:

@/ I am revising how to subtract using a
>¥ number line and write simple equations. ||(1? <«—+—+—+—+++++++—> 59 -7 =
5152 53 54 55 56 57 58 59 60
Number lines can be used to work out
answers. Subtract19-7=2? 18)  <«—A———+—+—++—+++—> 87-4-=
81 82 83 84 85 86 87 88 89 90
 — W —>
(14 «——4—+—+++++++—> 46-3=
11 Sl A 41 42 43 44 45 46 47 48 49 50
Mark 19 on the number line ... then count &%
) _ (15) <« v b L, - 4=
back 7. Answer: 19-7 =12 61462 63 64 65 66 67 68 69 70
Subtract these numbers by drawing on the
number lines. Write an equation for each. |#® <Sgr———+—————<5 78-5=
717273747576 777879 80
-2
) o+ 24-2:= (A7) e+ S+ 36,2 9=
16 17 18 19 20 21 22 23 24 25 31 32 33 34 35 36 37 38 39 40
@ O 44> 3= (18) R T RS 59 -6=
36 37 38 3940 41 42 43 44 45 51 52 53 54 55 56 57 58 5960
3 O+ 37 -2 = (19) N S S 48 - 4 =
32 33 34 35 36 37.38 39240 41 42 43 44 45 46 47 48 49 50 51
4 O 65 -4 = (20) ey N R 68 -7 =
58 59 60 6162 63 6465 66 67 61 62 63 64 65 66 67 68 69 70
(5) L L L e, HhH 3 = @y et —+—+++++++—> 87-H=
47 48 4950 51 52 53 54 55 56 82 83 84 85 86 87 88 89 90 91
(6) O 79 - 3= (22) <—4—~+—+—+++++++—> H8-8=
7172737475 767778 79°80 50 51 52 53 54 55 56 57 58 59
) O 85 -2= 23 ———+—+—+—+++++—> 47 -4:=
78 79 80 81 82,83 84 85 86 87 41 42 43 44 45 46 47 48 49 50
® F+—+—+—+—+—+0++5 68-6-= 24 ——4—+—+—+—+++++—> 29-H=
61 62 63 64 65 66 67 68 69 70 22 23 24 25 26 27 28 29 30 31
(9) 0 49 - 4 = (25) <«—+—+—+—+—+—+—+—+++—> HB8-6=
41 42 43 44 45 46 47 48 49 50 52 53 54 55 56 57 58 59 60 61
(10) -0 57 -6 = (26) <«—4——4+—+—+—+—+—+—+—+—> 37-6=
51 52 53 54 55 56 57 58 59 60 313233 34353637383940
(11) R R R T S 78 -5 = 7)) «——++++++1+++ > 49 -7 =
71727374757677 7879 80 41 42 43 44 45 46 47 48 49 50
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n ’;Name: ‘ hﬂ,
g I am revising adding and subtracting Work out the missing numbers for these

»%" numbers using known basic facts. ‘basic addition & subtraction facts' §gs
Work out the missing numbers for these | @nd fime how long it takes.
'basic addition & subtraction facts' . Group 3
and time how long it takes. (“@

@ 14 + 2 = 3+ 84 =

Group 1

) 2 + 62 - 32 +.3 =
@ 4 + 32 = 23 + 4 =

&) 21 + 7= 4 + 44 %
) b2 + 2 = 2 + B3 =

4 7 +271 = 57 % 2 =
®3) 7 + 21 = 34 + 4 =

) 31+ 5 = 2% 15 =
4 61 + 3 = 7 + 62 =

(6) 2 + b86 = 125 + 3 =
(5) 5+ 71 = 42 + 5 =

@) 644 +23 = 8+ 931=
(6) 192 + 6 = 5 + 893 =

(®) 2 @ 897 - 263+ 3 =
% 4 + 683 = 421 + 4 =

©) 356+ 3 = 9 + 770 =
®) B42 + 7 = 3 203 =

(10) 2 + 135 = 494 + 5 =
©) 6 + 163 = 3104+ 9 = 0

1" Time taken
(10) 342 + H = 4 + 725 = ELJ !

T Group 4
[:1[ j Time taken:
- @ 160- 4 = 27 - 4 =
Group 2

&) 64 -2 = 35-3-=
@ 46 -2 = 97 -3 =

@) 28 -7:= 98 -4 =
@) 14 -2 = 35-2=

&) 84 -4-= 18-2-=
©) 68 - 1= 88-4-=-

(5) b6 -5 = 67 -2 =
&) 74°-"3= 68- 6=

(6) 298 - 6 = 78 -5 =
(5) 26 -1= 47.-H =

@ 37-4-= 245 -4 =
(6) 268 -2 = 158 - 3 = o037 >

®) 379 -7 = 486 - 3 =
@) 917 - 3 = 865 -1=

©) 49 - 6 = 319-9=
®) 379 -2-= 126 - 3 = 049 79

(10) 417 - 5= 759 -5 =
©) 739 -3 = 689 -0 =

&) Time taken:
(10) h97 -2 = 459 -5 = :
@ Time taken: How well do you know them?
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’ Name:

1 I\ ¥

g I am revising adding and subtracting
> numbers using known basic facts.

Work out the missing numbers for these

‘basic addition & subtraction facts' j
and time how long it takes. \ @

Group 1
@ 54 + = b6 + 14 = 17
@ + 62 = 64 | 52 + = 55
@ 21 + = 28 + 74 = 78
@ + 91 =94 | 67 + = 69
®) 45 + = 46 + 135 = 137
®) + 712 = 718 | 93 + =98
™ 673 + = 677 + 241 =w245
® + 927 = 929|583, + = 586
© 236 + = 239 # 850 =_858
(10) + 412 = 4171365 + =369
ﬂl_jTime taken:

Group 2
@ 16 -2 = 57 - = 53
@ 84 - =82 [25- 3 =
@ 48 - Ta= 98 - = 94
@ 64 - =61 |38- 2=
®) 26 - 9 = 77 - =75
®) 688 - = 686|528 - 3 =
@ 457 - 3 = 315 - = 311
® 179 - = 172 616 - 3 =
© 739 - 3 = 569 - = 560
@) 297 - = 292|349- 5 =

@ Time taken:

Copyright © 2014 AWS Publications Ltd

Work out the missing numbers for these
'basic addition & subtraction facts' gz
and time how long it takes.

e

Group 3
@ 32 + = 36 + 53 = 57
@ + 82 =84 | 73 + =75
® 27 + = 28 #64 - 68
@ +/93 = 94_| 92+ = 99
&) 41 + = 46 + 52 = 57
®) + 216 _= 218|595 + =1,598
@) 674 + = 677 + 861 =865
®) + 741 = 749|323+ = 326
©) 29730+ = 979 + 130 = 138
@o) + 465 =, 467,684 + = 689
f;uf Time taken:
Group 4

@ 26- 4 = 67 - = 63
) 84 - =82 |45- 3 =

©) 78 - 7 = 18 - = 14
@ 94 - =93 |58-2-+=

®) 36-1-= 27 - = 22
®) 88 - =8 |368-5 =

™ 457 - 4 = 625 - = 621
®) 519 - = b12| 176 - 3 =

© 239-7 = 99 - = 90
@ 167 - = 165| 649 - 4 =

@ Time taken:

How well do you know them?
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n ’ Name:
@/ I am revising the ‘family of facts’ for 6 + 7 = - -
>% addition and subtraction . (11)
+ = - =
Can you work out the answer to these facts?
5+622, 6+522, 11-5:2,11-622 | = 9+ 97 -
These are known as a 'family of facts'. + = - =
Lear'nin.g T.he basic 'familx of. facts' wi II 6+ 8 = _ i,
make finding answers easier in the 13)
future. Time how long it takes. + 8 1 =
|l|2|3|46|7|8|9ll|12|13|1416|17|18|l;)(14) Tel § _
2 + 9 = - =
) b+ 9 = - =
+ = - = @s)
+ = - =
3+ 8 = - =
2 7 + 8 — - =
+ = - = (16)
+ = L =
4 + 7 = = =
3) / + 9 = - =
+ = = = @)
+ = - =
h + 6 = - =
(4) (18 8 + 8= - =
+ = - E
8 + 9 = - =
344+ 9= - = (19)
(5) + = - =
+ = = =
(20) 9 + 9 = - =
4 + 8§ = - =
) Word problems. —
K - ) - @1 If you spend $29 and %
5 ¢ s S = $8 on two new books, = @%
@ how much have you spent? % —
+ = - = @
+ =
© 6+ 6= ] 3 @2 If you have $53 and —_—1—1=
4+9 = _ - spend $8, how much =252 %
© money do you have left? % % %
+ = - = SIS
b + 8 = - = -
10) Time taken:
. - How well do you know them?

[1]2]3]4 6[7]8]9 ll|12|l3|l416|l7|18|19

Copyright © 2014 AWS Publications Ltd
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n ’/Name:
/ T am revising how to add using a humber
>* line and write simple equations. 12 «4O+—+—++++++—> 17+6=
16 17 18 19 20 21 22 23 24 25
Number lines can be used to work out
answers. Add 8 +6 =? (13) <«—@+—++++++++—> 35+7=
3536 37 383940 41 4243 44
S m —>
(14) <« Q+—+—+—+—+—+—+—++—> 27 +9=
6 7 8 2 1 12 13 27 28 29 30 31 32 33 3435 36
Mark 8 on the number line ... then count on £%
! _ (15) <« Q4+ttt +—+++— + 6=
6 more. Answer: 8+6 =14 5869 60 61 62 63 64 65 66 67
Add these numbers by drawing on the
. ) 5 @6 <@t +—+—+—+—+—+++= 44+9-=
number lines. Write an equation for each. W = 16 47 18 45 P 52 53
+ 3
1) N, A 18+ 3= 17) <O+ttt 68+ 7=
16 17 18 19 20 21 22 23 24 25 68697071 727374757677
@) ——O——————— 39+3= (18 —O—+++—+—++++4 79 + 6 =
37 383940 41 42 43 44 45 46 79 8081 82 83 84 85 86 8789
(3) T N S S 54 + 7 = (19) o 36 +7=
53 54 55 56 57 58 .59 6061 62 35 36 37 38 39 40 41 42 43 44
(4) — 4~ — 29 +2 = (20) <@+ +++++++ 23+9:=
27 28 29 30431 32 33/34 35 36 2324 2526 27 28 29 30 31 32
6 <P+ -+ 48 +4 = (1) @ +—+—+—++++++> B9 +7 =
46 47 4849 50 51 52 53 54 55 59 60 61 62 63 64 65 66 67 68
(6) O+t 67 + 4= (22) «—+QO+—+—+—+++++—> 17+8=
64 65 66 67 68 69.70 71 7273 16 17 18 19 20 21 22 23 24 25
7 O+ 38 +5= (23) «—O@O+—+—+—+—+++++—> 46 +9-=
36 3738 39 40,41 42 43 44 45 46 47 48 49 50 51 52 53 54 55
(8) - O—+—+—++++—> 29+ 4= (24) <«—Q+—+—+—+—+++++—> 79+8=
26 27 28 29 30 31 32 3334 35 79 80 81 82 83 84 85 86 87 88
(9) - Q—+————+— 46 + 5 = (25 <«—@+—+—+—+—+—+—+—++—> 35+9=
43 44 45 46 47 48 49 50 51 52 3536 37 383940 41 4243 44
(10) o 39+5= (26) «—+OQO+—+++++++ > 66+8=
36 37 38 3940 41 42 43 44 45 65 66 67 68697071727374
(11) QO+ 87 +5= @) <«Q@+—++++++++—> 28+9-=
84 85 86 87 88 89 90 91 92 93 28 29 30 31 32 33343536 37

Copyright © 2014 AWS Publications Ltd
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m ’/Name:
@f I am revising how to subtract using a
>¥ number line and write simple equations. ||(1? <«—+—++++++0++—> 33-6=
26 27 28 29 30 31 32333435
Number lines can be used to work out
answers. Subtract 14-7=7? 13 «—A—4—++++++0+—> H2-7=
W 44 45 46 47 48 49 50 51 52 53
::'"'"'V:)(14)‘::::::::=0—>66-9:
6 8 9 1 12 13 14 57 58 59 60 61 62 63 64 65 66
Mark 14 on the number line ... then count 2%
) _ (15) <« L 11| > -I9=
back 7. Answer: 14-7=7 37438 39 40 41 42 43 44 45 46
Subtract these numbers by drawing on the
number lines. Write an equation for each. |#® <gr———————0% 73-9=
64 65 66 67 686970717273
-3
@ A4 10+—+— 31-3= 17—+ o+ 95.-7s
242526 27 28 29 30 31 32 33 87 88 89'90/91 9293 94 95 96
@) O 420~ 3= (18) — - 25 -6 =
36 37 38 3940 41 42 43 44 45 14218019 20 21 22 23 24 2526
@) ————+——+—++0— B51-7= (@9) 40—~ 31-7-=
42 43 44 45 46 47 48 49.50 51 2223242526 272829 30 31
(€Y — = 21 2= (20) ey e o> B2-9=
16 17 18 19 207212223 24 25 43 44 45 46 47 48 49 50 51 52
(5) t—t—————+—+0— 62-4:= @Y\ «—4¥t—+—+—++++0+—> 86-7=
53 54 55 5657 58 59 60 61 62 78 79 80 81 82 83 84 85 86 87
() I SRR M S 31-4- 22) <~—4—~+—+—++++++0—> 75-8=
23 24 25 26 2728 29 30 31132 66 67 68 69707172737475
@) bt B3 -5= (23) «—4—++++++++0—> 95-9:=
46 47 4849 50 51 52 53 54 55 86 87 88 89 90 91 92 93 94 95
®) —+—+—+—+—+—+0++-> 73-4= 24 <—t—+—+—++++++0—> 67-8=
66 67 6869707172737475 58 59 60 61 62 63 64 65 66 67
9) RS T 91-5= 25 <«—4—+—+—+—+—++++0—> 34-9:=
83 84 85 86 87 88 89 90 91 92 2526 27 28 29 30 31 3233 34
(10) —+—+—+—+—+—+—+0+—> 84-5= 26) «——+—+—+—++++0+—> 44-8-=
76 77 78 79 80 81 82 83 84 85 36 37 38 3940 41 42 43 44 45
(11) 4+ 4+ ++++e—> Hb2-5= @ «—d4—++++++++9-> H7-9=
43 44 45 46 47 48 49 50 51 52 48 49 50 51 52 53 54 55 56 57

Copyright © 2014 AWS Publications Ltd
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m ’ Name:

@4’ I am learning more about number lines
and writing simple equations. a

-
s

Use the number line to work out the
difference between the two points marked. | a2 L L B B

e A A A2 N

<€ —t—0 —t—0— =
6 7911 12 13 (13) M *

Two simple equations can be written ...

+ =
either8 + 2 =14 or 14-2:=8. |9 <« BUTNV VG oy

Answer: 8+ 6 -14and 14 - 6 = 8 28 Y - =
Look at each number line. & i £ g + =
Write two equations for each 79 88 e

and work out the answers. ¢
Look at each numberline.

@ PN O'A'AAS NN 26 + 27 31 IWrite two equations for each
26 31

@ and work out the answers,

S)QQQQQQ + =
) (16) ~—t—+O0+—+—++0O0++—

3 5§ 95 - =38 30 35 - =28

+ % + =

3 LI N B B s | —> @7 Q=0
64 72 2 = 75 80 - =
+ 4 + =

(4) M—» (18) <~ Q+—+—+—F—F—+0+—
45 54 - = 50 55 - =
+ = + =

6 VNNV Ly G | <« O+—+—+—+++++0—>
67 75 - = 35 40 - =
+ 3 + =

(6) HH—M—H (20) —FOQ0+—+—+—F——+0+—
26 32 - = 55 60 - -
+ = + =

@) H—w—) (21) ~—F—0—+—F—FFF+0—
89 97 - = 30 35 - =
+ = + =

(3) MH—) (22) ~—+—+Q0—+—+—+—+—++0—
55 62 - = 65 70 - =
+ = + =

9) HH—M%—) (23) —O—+——t—F—FFF0—+—
36 43 - = 20 25 - =
+ = + =

10) «—+ YV VVV VS | 24) —O—+———+—+—+—+0—
64 72 - = 40 45 - =

Copyright © 2014 AWS Publications Ltd 17 NAL2b



’ Name:

g I am revising how to add numbers using | | The 10+ adding strategies can be used with
7 the IC(CI'C“FIQ to 10’ and 10+ sTr'aTegies. Iarger numbers .. Add82 +7 + 8
Add these three numbers ... 12+4+8 Answer: 82 +8 = 90, then 90 + 7 = 97
Firstly, find fwo numbers that add to 10. Circle the pair of numbers that when added
Answer: 12+ 8 = 20, then 20 + 4 = 24 end in a 0, then work out the answers.
Circle the pair of numbers that add to 10, an 81 90 + _
then work out the answers. 5 9 -
1 0 a2 W 2RO §
@ + = =
6
7
- (13) =
@ 2 10 + = 7 33 +
3 3 10 - (14) A ) + =
) 7 9 R 56
4 4 10 4 (15) & + =
@ 8 6 * - 5 8
7 o) 9 61 . _
(5) 5 5 100+ = 7 =
0 8
= @7) =
(6 10 7 10 + = 9 82 +
7 9 10 - (18) 4 8 + =
@) 5 1 + = 56
8 8 10 - (19) o + =
@ > 9 + = 7 9
. : 22 8
Colour in each pair of numbers that add to, (20 + =
10 in a differenticolour, then work out what 4
they all add upyto. 45
— DY \ SN @1 + =
( 5 \/ P ,\‘\ 8¢ w7 ( 6 6
0 ) T A v
) (\‘ 2 /« R o \»,é,, L 63
_ 5
+ + + + = (23) + =
PN TN T 81 9
e \\72 ,_\ “\\ 6 / e (\ 4 /,\/:\
s e e (BT .o
) o 95
(25) + =
+ + + + = 5 9
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= e fmls

g I am revising adding and subtracting Work out the missing numbers for these
> numbers using known basic facts. 'basic addition & subtraction facts' Zgs
Work out the missing numbers for these | @nd fime how long it takes.
‘basic addition & subtraction facts’ fel | 75 l, Group 3
and time how long it takes. \ @ —

@) 25 + 7 = 8 + 37 =

Group 1

@ 9 + 61 = 24 + 9 =
@ 6 + 34 = 68 + 3 =

@3) 14 + 8y 6 + 65=
@ 55 + 8 = 9 + 25 =

“@ 8 +,35 = 45+ 9=
© 9 + 22 = 47 + 3 =

5) 46 + 9 = B4 85 =
“@ 78 + 6 = 5+ 17 =

®) 8 + 482 = 318 + 9 =
®) 6 + 67 = 77 + 4 =

) 673 +. 9= 7 + 578, =
®) 642 + 8 = 8 + 148 =

® 9@ 1374 - 753 + 8 =
™ 8 + 214 = 429 +@ =

© 365 + 6 = 9 + 576 =
® 387 + 9 = O gt 7310 =

@o) (7 + 256 = 826 + 8 =
© 6 + 256 = 887+ 7 =

"4 Time taken:
) 969 + 4 = 9 + 549 = '
m Group 4
[ j Time taken:
- @ 15 -7 = 42 - 7 =
Group 2

@) 73 - 9 = 20 - 9 =
@ 21 =03 = 4075 4 =

@) 31 - 5 = 92 - 8 =
@ 34 -5 = 93 - 5 =

@ 24 - 9 = 53 - b =
©) 50 - 3,.= 61 - 2 =

®) 60 - 5 = 85 - 9 =
@) 228 -V 24, -"8 -

®) 217 - 9 = 640 - 8 =
(®) 41 -°4 = 3p- 9 =

™ 865 - 8 = 492 - 9 =
®) 126 - 8 = 270 - 2 =

® 621 - 8 = 176 - 7 =
™ 737 - 8 = 452 - 4 =

© 385 - 6 = 531 - 6 =
® 950 - 9 = 266 - 7 =

@) 754 - 8 = 963 - 6 =
© 524 - 7 = 822 - 6 =

@ Time taken:
) 348 - 9 = 733 - 9 =
@ Time taken: How well do you know them?
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’ Name:

1 I\ ¥

g I am revising adding and subtracting
> numbers using known basic facts.

Work out the missing numbers for these

‘basic addition & subtraction facts' j
and time how long it takes. \ @

Work out the missing numbers for these
'basic addition & subtraction facts' gz
and time how long it takes.

e

Group 3
@ 25 + = 32 + 37 = 45
@ + 61 =70 | 24 + = 33
® 14 + = 22 £65 = 71
@ +135 = 43_| 45+ = 54
&) 46 + = 55 + 85 = 90
©) + 482 _= 490 318 + =327
@ 673 + =, 682 + 578 =585
® + 137 = 146 | 753"+ = 761
© 3650+ = 371 + 596 = 605
@o) + 256 =, 263,826 + = 834

f;uf Time taken:

Group 4
() 15, - = 8 42 - 7 =
@ 73 - 9 = 20 - = 11
©) 31 - = 26 92 - 8 =
@ 24 - 9 = 53 - = 48
®) 60 - =55 |85 -9-=
®) 217 - 9 = 640 - = 636
™ 865 - = 857|492 - 9 =
® 621 - 8 = 176 - = 169
© 385 - = 379|531 - 6 =
@) 754 - 8 = 963 - = 957

@ Time taken:

Group 1
@ + 34 =40 | 68 + =71
@ 55 + = 63 + 25 = 34
@ + 22 = 31 | 47 + = 50
@ 78 + = 84 + 17 = 22
®) + 67 =74 | 77 + = 81
®) 642 + = 650 + 148 =156
™ + 214 = 222|429 + =437
® 397 + = 406 + 731 = 740
© + 256 = 2621887+ = 894
1) 969 + = 973 + 549 =558
ﬂl_jTime taken:

Group 2
@ 21 =93 = 40 "= = 36
@ 34 - = 29 93 - 5 =
@ 50 - 3= 61 - = 59
@ 22" - =14 24),-"8 -
®) 41 -4 = 3Ty- = 26
®) 26 - = 18 40 - 2 =
™ 37 - 8 = 52 - = 48
® 50 - = 41 66 - 7 =
©) 24 -7 = 22 - = 16
@) 48 - = 39 33 -9-=

@ Time taken:

Copyright © 2014 AWS Publications Ltd
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m ’ Name: ‘ hﬂ,

g Assessment 1: Rewrite these 3-digit numbers to make
”~ Iam seeing what I remember so far. | the smallest and largest numbers you can.

Write the 3-digit numerals that
J 693 208

match these number words.
: (13)
six hundred and smallest | largest smallest | largest

seventy-hine

€8]

@ nine hundred and Add and subtract these numbegs using the

seventy-six , . .
Y number linesg Wkite an equation for each.
® four hundred and twelve
Write the number words that match o, 1Y gty t—> B2 + 7 =
these 3-d|9|1’ numerals < \‘; 50'51 52 53 54 55 56 57 5859
18 & 4—+—++—+++=Fp+—> 84+8=
4) 346 83 84 85 86 87 88 89 90'91 92
(16) 1 49¢ 3=
4344 45 46/47 48 49 50 51 52
©) 619
AN FetF+—+—+—+—+—F+> 72-8=
63 64 65 66 67 68 697071 72
®) 250

Work out the missing numbers for these
addition and subtraction questions.

Werite in the missing numbers on

each number liné. 18 63 +4 = 42 + = 45
< I I I 1 I > | (19) 220+ = 24 4 + B4 -
@ 450 451
(20) 7 + 61 = 71 + = 72
(8) 296 299 (21) 93 - = 87 62 - 7 =
< : : : : : > (22) 75 - 9 = 34 - = 28
©)
780 % @) 47 - =39 |58 -9-=
0 <« : : : —> Circle the pair of numbers that when added
900 898 end in a 0, then work out the answers.
Werite these whole numbers in 24) 81 + -
order of smallest to largest. 2 @7 > 85
72 6
392 | 584 | 129 | 648 | 461 | 216 |* * -
1)
(26) + =
7 53
347 | 861 | 923 (432 | 174 | 716
(12) 7 4
27) + =
66
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{Pdan1e:

1 I\ ¥

g I am learning how to read & write
> number words for 4-digit numbers.

4-digit numbers are made up of ...
5630

7N

1000's | |100's| |10's | | 1's

Written as words this number is ...
five thousand, six hundred and thirty

(12)

5412

Wprite the number words that match
these 4-digit numerals.

&

Write the 4-digit numerals that
match these number words.

(13)

Use these number words ....

one, two, three, four, five, six, seven, eight, nine, ten,
eleven, twelve, thirteen, fourteen, fifteen, sixteen;
seventeen, eighteen, nineteen, twenty, thirty, forty,

fifty, sixty, seventy, eighty, ninety, hundred, thousand

7195

(14)

one thousand, four

@
hundred and ninety-three

3628

six thousand, three

* hundred and thirty=eight

(15)

two thousand, four

* hundred ‘and eighty-five

6706

five ¥housand, one

4)
hundred and seven

(16)

nine thousand{ five

© hundred and forty-two

9250

seven thousand and

®) , :
sixty-nine

an

three thousand, two

©)
hundred and fourteen

4873

one thousand, eight

? hundred and fifty-six

(18)

eight thousand, six

© hundred and forty

2549

four thousand, three

(10)
hundred and twenty-one

two thousand, nine

(11) ,
hundred and sixty-seven

(19)

8061

Copyright © 2014 AWS Publications Ltd
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ame I

g I am learning to understand place value | Colour in rings on each abacus to show the
> for 4-digit numbers. number written below each abacus.

The number 1536 is shown on this abacus. S s S i e RN B an SR NS -

. e o o oo o e do e

How many black rings u G B R O EDTGN R B S ISR G ED G IR

o 5 N EDTNN G BTN G RGN B e I IR

are on each peg? S © 4 L kL b I SR

Answer: .= Lttt F Ll L

One 1000, = = RN S S SRS S RS S

. , i S SN I e o Ll o

five 100's, = [1000's 1005 105 1s | [1000's 100s 10  Is
L S —

three 10's

and six 1's. [1000's 100's 10's  1's | 3054 1879

LB

Count the number of black rings on each (Y R T A S S ERE e

abacus peg. What number is shown? ( Noas DR I SO SR SR S S
. ol o D g [ D) k; [ N
5= 1000's = £ 8 4 &P
1 & 100s- B AR e S S O ) et
= 10's [1000's 2008 40's  L's | [1000°S 100 105 1s
15 4620

1's =

L

100's 10's  1's | number = + s + B +

[\ o e e o

=N 1 B 2 o

()] T I T 1

N < FE 4

- e e do e

) [ [N ER R DI G BD I B

( y [ 1 e o e

(2) { )« [ D o BTN ED N BD I B
1@0'5 100's 10's 1's | [1000's 100's 10's 1's

e Tl 1 e [ D |G BB B

(G RO B IEGH BRI D) 1= o1 O] 1o

I'e | e Y e | i | Id | ' | ' | e }

= ol D) 'S B Gl ) 1 — I B | 1

— @) 'l DG I I [ o D D o

' e | I ) S ) 1 Bl I N ( 3

L RN ~ | - | ) ~ | L S

= o e o 5 1o 1o o o

v | — — ] | — — — |

| g N I 3 ) Y ( hY e N

(3) — [N ID I I IR b [ ) > (]l O]

- ' I ) | | D e D o

— 1 IS B > (1D & D) Tl o

= > D O [ -l i - o
|

[1000's 100's 10's 1's | [1000's 100's 10's 1's
9256 4079

N IR TGN I GN BTN (o do oo

—+ > -+ e o o o e oo o
i B cy o1 oI cT o1 oy o
¢ Y 'an D) (S L S - (- [ N G .
N 1 9) S RO BRI B B e de e o
— - = o o (e e (e e e e
N = — o I EE ) 1 I ' e nn e B
4) 1D I . I | Sl ER RGN P BRI B
P - o o ol o 1o o > o
- - 4 . = — 4= = 4= T
—+ —= o e DI D RN I e e e
1o = . [ - ——
= . O BN IV [ 'S ISR bR I e
- = 11000's 100's 10's 1's | |1000's 100's 10's 1's

[1000's 100's  10's " 1's | number = 8124 6547
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{Pdan1e:

N f— — i
: N,

understand place value.

@/ I am learning to rename numbers and

Numbers can also be renamed

Example: 2985

or 2000 + 900 + 80 +

into 1000's, 100's, 10'sand 1's.

P —

= 21000s+9100's+810's+51's

5

&

Rename these numbers as
1000's, 100's, 10's & 1's.

This time the order has been mixed up.
What number am I? Remember the

order ...
592 3 —
TN

100's

1's

1000's 10's

(11)

1 1000's, 6 10's, 2100's, 4 1's

(12)

7 100’s,"3,10's, 1 1000's, 5 1's

o @ A219= a3 BilsN01000's, 940's, 2100’
4 1000's+ 100s+ 10's+ 1s
@4 510's, 310006, 4100's, 61's
or + + +
. 3576 - (15) 8 1000's,47.10's, 01's, 9100's
1000's+ 5100s+ 10's+ T's/ 16y 4700, 11's, 710's, 51000s
or ¥ ¥ N a7) = 31000's, 8 10's, 2900's, 6 I's
3 8462 = 1 10'sg2 100 1000
@s) ! ) j !
1000's + 100is® 10's +. s 31s, 810y . 61000
or N N . The place a digitrhas in a number
will affectdits valte.
o 3719= Example: In 460, the 6 has
1000's + 100's%*H 10s+ 1's| aplacevalue of 10 and means 60.
or + + + What'is the place value of the BOLD digit
ih.each number and what does it mean?
© 1459 =
1000%%% 2100's +  10's 0 14 Place value Means
(19) 6370 300
or + + +
What number am I if I af , e 3491 10's
made up of ... N //,I (21) h136
(6) 4 1000's, 1100's, 810's, 61's (22) 4062
) 9 1000's, 7100's, 210's, B1's (23) 2927
®) 3 1000's, 8 100's, 410's, 11's (24) 8390
©) 4 1000's, 2 100's, 7 10's, 0 1's (25) 2646
(10) 8 1000's, 5100's, 310's, 91's (26) 5623
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m ’/Name:
/ I am learning to add numbers using my 1's:
> knowledge of place value (no carrying).
431+ 266 |10's:
Add 1's, 10's & 100's ... then add 6
together. Example: Add 473 + 216 100's:
1's 3+6:=9 +
Answer:
10's 70+10=80
100's 400 + 200 = 600 | ~ * 80 * 600 = 682 1's:
Work out the answers by first adding 545 + 314 |10's:
L] 1] 1] (7)
. 1I's, 10's & then 100's separately. 100's:
1's: 2 + 1 =3 +
342 +531 [10's: + 30 = 1's:
@)
100's: 300 + = 62 + 127 110's:
(®)
3 + + = 100's:
1's: + = +
237 + 531 [10's: + - 1's:
@)
100's: + - 723 + 224 7110's:
)
+ + = 100’s:
+
1's: + =
614 +354 |10's: Wi+ = I's:
©® 692 + 104 [10's:
100's: + = (20)
100's:
+ + =
+
1's: + 3
1's:
852 + 123 |10'sé + =
@ 741 + 248 |10's:
- _ 11)
100's: \ - 100's:
+ + =
+
I's: * - 1's:
hcaaceom 19 v ¢ 705 + 294 |10's:
(5) (12)
100's: + = 100's:
+ + = +
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m ’/Name:
g I am learning to subtract numbers using 1's: -
> my knowledge of place value.
697 - 266 |10's: -
Subtract 1's, 10's & 100's then add |
together. Example: Subtract 978 - 515 100's: -
1's 8-5=3 . + +
10's 70-10= 60 3+6575:’065'_ 463
100's 900 - 500 = 400 - 1's -
Work out the answers by subtracting... 859 314 |10's: -
; ; ; ™
1's, 10's & then 100's separately. 100's: \
1's: -1 =2 . )
873 -531 |10's: - 30 = .
@ 1's: =
100's: 800 - = 689 - 127 [10's: -
®
2 * - 100's: -
1's: - S + +
768 - 531 |10's: - = I's: -
@
100's: - = 747 - 2245110's: -
©
+ + = 100's: -
1 + +
S - =
968 - 354 |10's: i = I's: )
® ‘o )
{o0's: g _ K 796 - 104 |10's:
100's: -
+ + =
+ +
1's: - S
1's: -
975-123 |10'ss - =
@ 989 - 248 |10's: -
100's:. - = @
100's: -
+ + =
+ +
I's: ) - 1's: -
Reanseom 0 - 992 - 280 [10's: -
®) (12)
100's: - = 100's: -
+ + = + +
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/ I am learning to add numbers using my ||Add 1's, then 10's then add together.
> knowledge of place value (with carrying). || Example: Add 43 +39  (Carry on 1's only)
Add 1's, then 10’'s ... then add together. 10.1'5403 ;g_:;g Aﬂswe_r:
Example: Add 73 +56  (Carry on 10's only) S bl LA
1's 3+6=9 Answer: Work out the answers by first adding
10's 70+50 =120 9+120 =129 . I's & then 10's separately.
Work out the answers by first adding 1's: + =
. I's & then 10's separately. ® 17 #24 |10's: . B}
1's: + = + =
1) 85 + 34 10's: + = 1's: + =
+ = ©) 43 + 49 _ 110's: + =
l's: + = + h
© b2 +76 10's: + = 1's: + =
+ S (10 27 + 47 10'st + =
l,s: + =
@ 83+82 W10's: g o
> an 38 + 155" |10's: + =
+ =
1's:
1's: + =
“@ 97+#51 |10's:
(12) 47 + 28 10's: + =
+ =
1's:
1's: + =
®) 63,74 10's:
(13) 19 +54 |10's: P
+ =
1's: I's: . 3
© il 10 an | 23+28 |10 o+ =
+ =
I's: 1's: +
™ 91+ 96 10's: (15) 37+65 |10's: +
+ =
27 NAL2b
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’ Name:

g Assessment 2:
> I am seeing what I remember so far.

What is the place value of the BOLD digit
in each humber and what does it mean?

Write the 4-digit numerals that
match these number words.

two thousand, seven

® hundred and forty-eight

Place value Means

G 6370

©) 3491

five thousand, three

@)
hundred and ninety-six

Add or subtract these numbers ...
. 1I's, 10's ‘& then 100's separately.

Write the number words for this 4-digit

l's: + =
numeral.
Use these number words .... (@10) g3 o3 |10 ' i
one, two, three, four, five, six, seven, eight, nine, ten, 100's: + =
eleven, twelve, thirteen, fourteen, fifteen, sixteen,
seventeen, eighteen, nineteen, twenty, thirty, forty, + + =
fifty, sixty, seventy, eighty, ninety, hundred, thousand
1's: - =
an 989- 248 |10's: = =
@) 412 H
5 100’s: - =
+ + =
Count the number of black rings on each ,
abacus peg. Whatmumber is shown? I's: ) )
= 992 -280 |10's: - =
—t (12)
&= 100's: - =
@ C’E‘ + + =
[ D
o Work out the answers by first adding
o008 10-0.5 . I's & then 10's separately.
. l's: + =
Rename this number as
1000's, 100's,10's & 1's. 3 17 + 24 10's: + =
© 5067 = + =
1000's+ 100+ 10s+ 1's 1's: _
S + =
or * * * (14) 43 +49 |10's: * =
What number am I if T am + -
made up of ... ——
P I's: . -
(6) 4 1000's, 1 100's, 8 10's, 61's 15) 27 + 47 10's: . B}
@) 910's, 71's, 21000's, 5100's + -

Copyright © 2014 AWS Publications Ltd
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= LS
@/ I am learning to add numbers using my | More addition ... work out the .~
>* knowledge of place value (no carrying). | answers by first adding 1's, 10's =
You can add numbers without showing the 4 100's m/or;a;\
working. Example: 627 + 341 = 2 an {334+ >51-
Place Value Place Value Place Value A
100's|10's | 1's [FSM100s|10s | s [EER00's|10's | 1's
12) 513 +212=
W Add1's(7+1=8) 100 | 105 | 1's
Add 10's (20 + 40 = 60) |/ (1 162+ 234-=
Add 100's (600 + 300 = 900)
Draw lines between numbers with the a4 8314 + 16 2=
same place value as you work out the ___o
answers by adding in order 1's, 10's &
' (25) 221+ 235=
then 100's as above.
7N N
@ 124 +173= 7 (16) 5317+ 144:=
N
m 100's | 10s | Is 100's | 10s | Is
@ 614 + 251= 6 @an 641 + 14.4-
N
NN
@) 462 +430-= 8 (18) 412+ 376-=
4
@ B2 + 326+= (19) 513 + 135=
®) 212 + 481-= (20) 428 + 431=
100's | 10s | Is 100's | 10s | Is
(6) 644 .+ 334-= (21) 324 + 372-=
@ 274 + 223+ (22) 534 + 315=
®) 316 + 563+ (23) 354 + 631=
©) 218 + 341-= (24) 271+ 412-=
100's | 10's | 1's 100's | 10's | 1's
(10) 253 + 344-= (25) 753 +142-=
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24 e ails;
g I am learning to subtract numbers with | More subtraction ... work out the
>* the same place value - no renaming. answers by first subtracting 1's, 10's &
You can subtract numbers without showing then 100's in that order.
the working ... Example: 968 - 341 =2 an m _ n
Place Value Place Value Place Value N4
100's|10's | 1's [l100's|10's | 1's 1005[10's | 1's
12 725 -212-=
bemcf 1's(8-1=7) 1005 | 10s | 1s
Subtract 10's (60 - 40 = 20) ||(13) 396 - 234-=
Subtract 100's (900 - 300 = 600)
Draw lines between numbers with the a4 476 - 16 2=
same place value as you work out the ___oi
answers by subtracting 1's, 10's & then as) 456 235 -
100's in that order.
7N N 100s | 105 | 1s
@ 297 -124-= 3 (16) 679 - 144-=
A
@ 865 -614-= 2 @an 785 - 644
@) 892 - 462- 3 (18) 788 - 376=
100's | 10's | 1s 100's | 10s | Is
) 838 .- 512-= (19 648 - 135+
(5) 693 - 481-= (20) 859 - 431=
(6) 948 - 514- (21) 696 - 372=
@ 497 - 274-= (22) 849 - 315=
(®) 874 - 313-= (23) 985 - 631-=
100's | 10s | Is 100's | 10s | Is
©) 759 - 218= (24) 683 -412-=
100's | 10's | 1's 100's | 10's | 1's
(10) 587 - 253= (25) 895 -142-=
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’ Name:

1 I\ ¥

@, I am learning to add numbers using my | More addition ... work out the answers
> knowledge of place value (with carrying). | by first adding 1's and then 10's ...
. : . and don't forget to ‘carry’.
More adding numbers using place value ... forg 4
EXG/TI,D/@:' 56 +38 =2 Show working
- 1's: =
Place Value Place Value Place Value @ 16+86-= i
10's: + +
+ S O
5| 6 3|8 9 | 4 |uy 48+437- e+ =
, 10's: O+
Add 1's (6 + 8 = 14)
Write 4 in the 1's place value column, 1's: W )
carry 1 (10) to the 10's place value numbers .. |13 7 6& 2 6= 10s” Bes +
Add 10°s (1 +5+3=9) >
Write 9 in the 10's place value column. 1's: + =
) : @ 18+78-= ,
Draw lines between numbers with the 10s:  + +
same place value as you work out the I's: g
answers by adding in order 1's and 10'sy, @5 58 + 22 wos K2,
m , Show working ’
W 26+37:= l'ss 6+ "8 s T g - 1'ss y =
_/ 10's: 1¢%32 +°3 = 6 10'ss.  + +
N\ I's: -
s > = 1s: .oz
@ 47+13-= -
\\_/ 10's: + + = an 3 8 + 2 9 - 10's: + +
1's: + = 1's: + -
® 21+59= = '
105+ o a8 67+36= 10s  + +
1'5: + o 1'5. + -
@ 17%+65:= - '
. ¥ A 19 35+39-= 10s  + +
1's: + = s + =
® 49+26-= , @) H57+44-=
10's: + o+ = 10's: + o+
1's: + = 1's: + =
©® 33+¥58- , @1y 25+48-=
10's: + + = 10's: . +
1's: + = 1's: =
M 29+68-= , @) 47+57-= =7
10's: + + = 10's: + o+
I's: + = I's: =
® 47+49= | @ 69+23= ’
10's: + + = 10's: + +
I's: + 0= I's: -
© 38+44: | 9 85+15-= ’
10's: + + = 10's: + +
1's: + = 1's: + =
) BH4+17-= 25 69+39-=
10s:  + + = 10's: + +
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1 I\ ¥

g I am learning to add by rounding to More adding by rounding to make 10 ...
> form a 'tidy’ number.
26 + 19 =
Rounding to make 10 or a multiple of 10 | (1% =
Add 29 + 8 (add 1 to 29, subtract 1 from 8) ( ) ( )
Answer: 29+ 8 becomes ... 30+7=37 | .o 58 + 37 = _
Look for and round the number ( ) ( )
that is closest to 10 ora an 45 + 17 = _
multiple of 10 ... then add. ( ). )
9 + 17 = 297 64 =
- (18) =
) ( o1 ) ( 1 ) 10 + 16 = ( ) ( )
39 + 5 = 14 + 78 =
- (@9 =
@y oy O C ) )
@) 9 + 74 = . _ 20) 37 + 56 = -
( Y( ) C oG
@) 49 + 5= .\ : 1) 23 +w29 = -
( Y( ) ) C )
5) 9 + 66 = ¢ _ 22) 38 + 56 = -
( Y( ) ( )G
© 73 + 9= . A . 24 +(47 _
( YL ( Q0 )
) y &N = - @4) "k =
G () (« ) (C )
34+ 9= 14 + 68 =
(3) + = (25) =
( )Y( @ C YO )
6 + 69= 77 + 16 =
(9 + 2 (26) =
C Y C YO )
12 %9 = 69 + 19 =
(10) + = @7) =
( 2C ) C )Y )
8 + 27 = 28 + 45 =
(¢EN + = 28) =
( )Y ) C )Y )
58 + 6= 17 + 37 =
(12) + = (29) =
C )Y ) C )Y )
8 + 34 = 49 + 36 =
(13) + = (30) =
( )Y ) C )Y )
68 + 5= 28 + 68 =
(14) + = (31) =
C )Y ) C )Y )
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’;Name: ‘ hﬂ,

@, I am learning to subtract by rounding || This time subtract from each number to

> to form a 'tidy' number. round to make 10 or a multiple of 10,

Rounding to make 10 or a multiple of 10 then work out the answer.

1. Workout 42-7=? @ 75 - 11= 74 - 10 =
(add 3 to 7 to make 10, also add 3 to 42) ( )Y( ) B
Answer: 42 - 7 becomes .... 45 - 10 = 35 67 - 51=

(15) - B0 =

2. Work out 52 -23=7? C )( )

(subtract 3 from 23 to make 20, 92 - 31-
also subtract 3 from 52) (16) ( N ) - =
Answer: 52 - 23 becomes .... 49 - 20 = 29 83 . 41-
First add to each number to round ¢ 2% |7 DN ) - =
. )
to make 10 or a multiple of 10, 56 - 21-
then work out the answer. 8 ( ) ( ) - =
@ 92 -9+ 53 - 10= bo) 93 s12s -0
( YO ) 6 OO0 ) 4
@ 85 -19 = - 200: 20) 67, -52 = . B}
( )Y ) ) ()
@) 73 - 29 = p - Eithér add or subtractfrom each number
C )C ) to round to make 10Qwr a multiple of 10,
@) 66 - 49 = _ - then work outfthe answer.
( )( =) 58 - 37
(5) 94 - 39 = _ - (21) ) ( ) - =
(@ M ) ) .
72 -.28 = (22) pr - 28- - =
®) N - = ( )Y(C )
o 66 - 18 2 ) S 22 )- (19 :) - =
() (Tw) -
03 -"48'= B (24) 83 - 32= - -
® T N > U ( YO )
b4 - 28 = ~ (25) 56 - 23= - =
® " () )
( YO )
o) 86 - 38 = ) _ 26 94 - 69-= ] _
C )Y( ) ( )Y(C )
an 63 - 17 = ) _ o 75 - 48 = ) _
( )Y( ) ( )Y(C )
a2 95 - 57 = ) _ o8 85 -43-= ) _
( )Y ) ( )Y(C )
13 74 - 27 = i : 29) 94 - 25-= i B}
( )Y ) ( )Y(C )
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m ’;Name:
g I am learning more addition and . .
>% subtraction strategies. o 96 - 39 = iy
Don't subtract .... add = S e Ep——
45 - 17 ‘:’"? izufhgasf:me as 1; +?2 =45 m m
Use 'tidy’ numbers on a number line.
3 20 5 . 67-28= i '
< > —— ¥ ¥ 3>
TE @ s DOm G
Answer: 3+20+5=28 so 45-17=28
Use the boxes on each number line as 83)- 45 = " "
above to help work out each subtraction. 4 Ny TN
T oo W0 R o s
e & T @
- m ¢ : —F ¥ Y N,
R Rl
+ +
55 -29 =
— EBEIE B EE Y Ty N,
EOEDR
+ +
o 82+ 49= = = N o 49 - + +
B W Tl e Ty,
o W0 ool 2 e
w O07E \ /;/-)\;-»\ ., 62-25° r’i/-’\;-*\.
yvoaan BEOG
_ + +
o T —F— Y N ;@ A , /‘*;/"\;"\. R
‘ B
95-16+= ' ' 78 -29 = * *
© T~ | NN

T BBEBEA
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m ‘Name: |
g I am using my knowledge of place value =
>%" to add numbers using columns. © 2 6 9 5 6 4
To add numbers together, using columns can *+ 3 6 4 + 1 4 7
be helpful. Example: 356 + 4 + 92 = 2
1. Wrife’rhe numbers in columns,
lining up numbers by place value.
, Place value
2. Add15(6+4+2212) columns @ 2 9 3 8
3. Write 2 inthe I's column, carry 1 2 6 4 9 ?2
to the 10's column. 11 1
, S + 7 + 5 3
4. Add10's(1+5+9:=15) 3516
5. Write 5 in the 10's column, carry 4
1 Yo the 100's column. . 9 2
. Add 100's (1 +3=4)
7. Write 4 in 100's column, 45|12 3 9 6 3 708
Answer: 356 +4 + 92 = 452 4 S 7
Add these numbers, starting with - * N8 * o
the right hand column.
S I S« 9 6 2
6 86 7
+ 5,1 + 4 5 8
@ 53 L7 3
+ 03 7 6 + 6 9
@o) 5 9 8 7
9 7 8 9 1
. 3 + 29
@) 6 903 £ 7
* 6,8  +qQ5 847
(11) 1 9 7 1 3 9
3 4 8 9 5
@ 6 8 3 8 4 * 2 7 *+3 7 6
+ 7 4 5 + 7 9
. 8 4 {5 2
) 8 2 4 5 8 2 8 8 6 8 9
+ 5 4 9 + 9 8 + 1 4 5 + 1 7 9
NAL2b
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’ Name:

@/ I am using my knowledge of place value | More addition ...
>% to add numbers using columns. 105
To add numbers together, using columns can 4 8 7 5
helpful. Example: 2509 + 87 + 678 = 2 ) 9 8 4 6 9 7
1.  Write the numbers in columns, w w
lining up numbers by place value. 1} + 8 7 ! 9 3 8
2. Add1's (9+7 + 8=24)
3. Write 4 in the I's column, carry 10's
2 to the 10's column. Pl
ace value
4. Add10's(2+0+8+7=17) columns 7 6 4 6
5.  Write 7 in the 10's column, (6) 6 5 3 9 9
carry 1 to the 100's column. 1|11]2
6. Add100's (1+5+6=12) 215/0|9 + 79 7 N 7 3 3
7. Write 2 in the 100's column, 8|7
carry 1 to the 1000's column. , S,
8 Add 1000's (1+2 = 3) +16|7,)8 105 | 1s |
9. Write 3 in 1000's column. 3 | 24,4 7) 8 Y 5 s
Answer: 2509 + 87 + 678 = 3274 @ 5 3 76 9 6
Add these numbers, starting with ’@ P 9 8 \ L o 8 6
the right hand column
10's
@ 8 O’ 8 MY 1979 5 9 4 9
+ 4 _643 + b _3,4 ® 9 8 3 8 6 5
+ 9 4 + 5 4 3 1
@ 4 649 7 3 644 "Add these numbers by first arranging
* 38 38 «+ 7 9477 them in place value columns.
1000's| 100's | 10's I's
23 +1052 + 134 —
© +6+201=7
@ 8 4 9 3 7 6
+ 6 8 6 + 8 5 6
+
10
6 9 7 4 9
@
39 18 79 4028 + 43
+ 4 3 + 9 3 * ¥ H7
1006 + 342 + 24
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’ Name:

g Assessment 3:
> I am seeing what I remember so far.

=

Add these numbers by first rounding ®)-
to make to 10 or a multiple of 10.

Draw lines between numbers with the (14) 19 +7 = N -
same place value as you work out the
answers by adding or subtracting in order 5+28= + =
the 1's, 10's & then 100's. 16) 30+ 6 = . -
D 212+481= an  B+79% >
(18) 48 +6 - # =
@) _
614+334-= Subtractithese numbersiby first rounding
. fo makesfo 10 or a multiple‘of 10.
) 274+223+
19) 42 - 18 = - =
@ 693-481-= o) 58 #29)= - 7
1) 65 27 = 4 =
© 948-514-=
CAPP® 23 » c
© 497-274-= @) 57-24- _ -

More addition and subtraction ...

Rather than.subtfract .... add.

251 321+ 315 Use the boxes on each number line to help
7 = o .
M 333+25 * work ott each subtraction.
® 729212 = 474 - 223 = . .
Draw lines between fiumbers with the 24) 64-19= o~~~
same place value as\you work out the ) 1 2 ' —
- 64
answers by addinguin order 1's ands10's. . . m .
, Show working
_ 1's: + = + +
© 21+59s= s 55 - 29 -
10's:" v+ % = (25) NN
> . . - ' ' —>
o 29v68: NS — 10N
s + + =
Add these numbers, starting with /@
a1 H54+17-= CHRE s . - the right hand column. A " 4
05 + + -
a2 47+49-= e I (26) 5 4 8 2 7 5
].OISI + + = 2 8 6
TR s . - + 9 7 + 4
13 49+26¢= 0
s + + =
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VA
.53 I am learning to skip count in 4's.

Skip counting in 4's creates a pattern
that could go on forever.

0 4 8 12 162428 3236

The first 5 numbers would be ...

4,8,12, 16, 20, ...

FALAAAAAAAAN

As you skip count in 4's,
what number comes after ...

Werite in the missing numbers as you skip
count in 4's from 4 to 40.

®) 12, 36, 20,

©) 32, 24, 28,

As you skip count in 4's, 5 <:
what number comes before ... -

(10) ,e0 , 12 , 36
(ady , 16 , 28

(12)

4/

Asyou skip countiin 4's,
what number comes between ..

, 12 32,

[or

, 40

(13)

16,

, 24 28,

, 36

4/ ’ ’ ’ ’
€8]
, . 32, , 40
’ 8/ ! ’ 20/
&)
’ ’ 32/ ’
’ A 12/ ’ ’
3
. 28, 361
4/ ! ! ! !

()

Skip, counting in 4's_can go on forever.
Write in the missingiumbers on each r{??
number linefasod'skip count in 4's. ¢

Werite in the missinginumbers as you skip
count in 4's from40 to 4.

40, , 8,

©)

(6)

@)
’ 16 ! ’ ’

< ; ; ; ; >
9 60 64 76

< I I I I —>
4% 96 100 108

< ! ! ' ! —>
10) 300 304 312

< ! ! ' ! —>
40 616 624 632

< : ' : ' >
49 240 244 252

< : ' ' ' =g
(19)

876 880 896
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@4’ I am learning to use skip counting
> in 4's to work out word problems.

FALAAAAAAAAN

0 4 8 121624283236

If Jack gives 3 friends 4 toys each
to play with, how many toys
did he give out?

This could be written as ....
4 + 4 + 4 =12 toys

Use skip counting in 4's to work
out these word problems.

If five friends are given $4.00
each to spend at a school

BBQ, how much money is that?
(4+4+4+4+4) )

€8]

If there are 10 piles,of four blocks;
how many blocks are there )

altogether?
(4+4+4+4%4+4+4+4+4+4)

&)

If seven'teams of four‘are playing
tennis, how many players

is that altogether?
(4+4+4+4+4+4+4)

3

If fourdriends have fourpets each,

how many pets is by
@ that altogether? = \
(4+4+4+4) A

If eight groups of four cupcakes are
on a table, how many cupcakes |s
that altogether? \

r
4+4+4+4+4+4+4+4) -

©)

L

QA

(6)

If two friends have four black
berries each, how many black berries

is that altogether? is I

0]

(4+4)
If six groups of four children from
Room 7 walk to the hall, how many

children is‘that altogether?
(4+4+4+4+4+4)

()

If honey’cost $4.00 @, jar and you buy
three jars, howsmuch ‘

would that cest? " ﬁ‘m
(4+4+4) M‘T. »
93

9

Ifa bottle holds four‘eups of water
and there are nine battles to fill, how
many cups of water are needed .

altogether? f
4+4+4+@A 24 54 +4+4+4)

2

(10)

If,an icescream costs $4.00,
how many ice-creams could
you buy with $12.00?

(11)

If a drink cost $4.00,
how many could you
buy with $16.00?

(12)

If a hamburger costs $4.00,
how many could you

AT
buy with $24.00?

STy \

(13)

If children get 4 oranges each and
there are 40 oranges,

how many children

are there?
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’ Name: ‘

I am revising skip counting in 4's and
learning to write multiplication facts.

=
,%K
5

Colour in shapes to form groups of 4.

Write as a multiplication fact.

If there are 8 piles of four blocks,
how many blocks are there altogether?
Answer:
4+4+4+4+4+4+4+4=32
8 groups of 4 blocks = 32 blocks
Written 8 x 4 = 32 (Multiplication fact)

C O D D DT O D
SO O SO D
(10) OO DO DO D D D
OO S D Dy
Groups of 4s=6 or x 4=

ay e Em e
Use skip counting to add all the 4's > = A
and then write as a multiplication fact. Grodpsof 45=  or -
— - — - . . G,
o @@ e - g N
(2) G < <
Number of 4s=4 or X 4= Groups ofls%” or 4k
@) = L @9 L 1L _ 1Bl [ ]
®®®®®®® A YW AINNIENE W\ "4l
Number of 4s=  or . . %42 as fF WL 1L 1L 1L MW IC I
A7 N I D o O VD
Groups of 4's =g™yor x 4=
(©)] =
©0Q R = =
Number of 4s =, or x4-= == = R
v T T o
Y\ o7 SvANy ANy AN AN
«* QOOPVOOOG: Grofpsof #s= or  x4-
Numbénrof 4s=  or X 4= ARG ARG AR,
Y. B NG = =
o @O (OO0 - (OO OHOTO
) h Groupsof 4s=  or x4=
Number of 48 =" or X 4.z 8228882%82
©® - alelelelelaielaleie
OBRQPOOO@- ™. - co
Numberof 4s=  or x4 = Groups of 4s=  or X 4=
@) (\'4) ( 4); @ - Werite in the missing numbers for
- these 4x multiplication facts.
Number of 4s=  or X 4=
an 1 x 4 = 2 x 4 =
* @O0 . L, .. x4
Number of 4s= or x4-= a9 B x 4 = 6 x 4 =
©c @OOOO®: = 7.4-  [sxs-
Number of 4s=  or X4-= @) 9 x 4 = 10 x 4 =
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N f— — i
: N,

@/ I am learning to share by forming
> groups of 4 and find remainders.

If there are 20 marbles in

a bag, how many groups \

of 4 are there? ) OO -
Yo o0

Answer: 5 groups of 4. - 00

Work out how many groups of 4
would be in these numbers.

Groups
of 4
@ 4 1 16
@ 36 28
©) 20 8
@ 12 40
) 32 24

Work out how mdhy, $4 amounts
can be made ffom these $ totals!

$4 groups $4 groups

$24

®) $36

$80 $100

If hot.dogs.cost $4.00 eachy
howamany ho# dogs can p
you buy with $20.00?

€]

N

()

If chips cost $4.00 each,
how many can you

®" buy with $32.00?

If drinks cost $4.00 each,
how many can you
buy with $40.00?

(10)

If there are 14 marbles in OQO )¢
a bag, how many groups o . 9
of 4 are there? ~
Are there any marbles left over?

W

Answer: 3 groups of 4 and 2 left over.

Work out how many groups of 4
would be in these numbers
and how much is\left over.

16 AN 24 36 [l 44
76 RelON 84 96 8104

21

4
64

8
68

12
72

28
88

32
92

48

56 Ks)
116 pivde]

108

(11)

(12)

18

(13)

37

(14)

26

(15)

39

(16)

47

an

63

103

(18)

Work out how many $4 amounts
ean be made from these money
totals and how much is left over.

Y4
A
20 Y

D4 group ARN\/~

(19)

19

(20)

33

(21)

50

If ice creams cost $4.00 N
each, how many can
you buy with $27.00?

(22)

How much money is left over?
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m ’;Name:
g I am learning more about sharing in 0
>* groups and writing as division facts. " 30 305 -
12
If there are 12 cubes of I " I > 15 5=
chocolate, how many groups i
of 2 are there? - | IS 45 25=
Answer: 6 groups of 2. ik
4 ~hH =
This can be written as a division I " I @ 22 0
fact. 12:2:-6 A s | 20 25 -
Work out how many groups of 2, 3, 5, © 50 bt -
10 or 4 would be in these numbers and
write each as a division fact. @ 25 +5=
oups o D on fa (8) 40 +h=
@ 8 4 8+2= 0
@ | 14 . o @ 113 Nl
@ 6 Lok ) 21 +3=
) 20 £2= ¢ J =3
) 10 P (4) 27 +3=
© 16 P (5) 12 +3=
@) 18 20 - © 24 *3=
® 12 a0 @ 30 +3=
(8) 18 +3=
ouUpsS O O D 0 0 n
@ 50 5 50 - 10= @ 16 16 + 4 =
@) 70 =10 = @) 28 4=
@) 90 =10 = @ 20 + 4=
4 40 +10 = 4 36 4=
©) 80 +10 = (5) 12 4=
©) 30 +10 = ®) 40 <4 =
@ 100 +10 = @) 32 4=
®) 60 +10 = ®) 24 4=
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’ Name:

g I am revising more basic multiplication
>¥ and division ‘family of facts'.

Can you work out the answer to these facts?
3x4:=?, 4x3=?,12+3=?,12+4=?
These are known as a ‘family of facts'.

Learning these basic ‘family of facts’ will

make finding answers easier in the  §g
future. Time how long it takes.

3 x 2

€8]
X = - =

4 x 2 = + =
@)

3

()

©)

(6)

€]

()

(9

4 x5 = + =

(10)
X = - =

(11) b x5

more ‘family of facts' ...

(12)

6 x5

(13)

(14)

(8)

(16)

@)

(18)

(19)

(20)

(21)

(22)

X =

(23)

10 x 10 =
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m ’ Name:

g I am revising more basic multiplication || more ‘family of facts' ...
>¥ and division ‘family of facts'.
8 x 4 = + =
Can you work out the answer to these facts? |2 . - )
3x4:=?, 4x3:=?,12+3=2,12+4=? _ _
These are known as a ‘family of facts'. 9 x4 = * =
13)
Learning these basic ‘family of facts’ will X = = =
make finding answers easier in the g2 10 x 4 8 B _
future. Time how long it takes. (14) > )
® 3 x3-= = X )= - =
4 x 3 = - , Work out these basic factst..
@ .- A _ 1§, 410 x 2 = 3 x =21
(16) + = 20 = ~
5 x 3 - . _ 36 4 0=:5
© . - o € an  104x 10 = 2. X\ "= 14
18 o 153# =3 20 + 4 =
6 x 3 = - =
@) (9 w10 x 5 = 10 x = 60
X = p- =
@0 10 = = 2 27 + 3 =
7 x 3 = + 2
®) ey 10 x4 = 5 x = 30
X = = =
@2), o (B0~ =10 |8 +2-=
8wx'3 = 4 =
® @3), “8 x 3 = 4 x = 24
X = = =
2 35 = =5 90 -+ 10 =
9 X 3 = - 2
@) 5 8 x 2 = 3 x = 18
X S - =
(26) 28 = - 4 45 + 5 =
10 x@3 = o =
®) @7 8 x 10 = 2 x = 12
X = - =
e 12+ = 3 16 + 4 =
9) 4 x 4 = = =
29 8 x b = 10 x = 70
6 x 4 = + =
(10) (30) 32 =+ = 4 25 + 5 =
X - Gy 2x9 = 3x =27
a1 7 x4 = T - Time taken:
X = 3 = How well do you know them?
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’ Name:

N e —— e
|
[ '

@4’ Assessment 4:
> I am seeing what I remember so far.

Work out these basic facts ...

11) 7 x 2 = 2 X = 10
Werite in the missing numbers as you skip
count in 4's from 4 to 40. @ 3 x10 = 10 x = 80
12 (13) 4 x5 = 5 x = 35
@ (14) 6 x 3 = 3 x = 27
, 28, , 36,
(15) 2 x 4,-= 4 x = 40
Use skip counting to add all the 4's
and then write as a multiplication fact. |@® 124z 2= 18 = =2
I D £ D - an 50 + 10 = 704= = 10
> QOO0 06:
Number of 4s=  or X 4= Q 40+ 5= 15 - P
© 000000 L 2N o
(20) 3204 = 20 = = 4
Number of 4s=  or X4 =
(21) 602 = 2 X = 18
4) é) -
®®®®®®@®. @) (490 - =,10¢ /50 + 10 =
b 4's = 4=
Number of 4's or X » 5 x 5 s 5 - 50
As you skip countiin 4's, I>
? < = = =
what number comes after ... y |“v 30 S 3 24 + 3
(5) 12 36 ‘ 20 (25) 8wx 4 = 4 x = 28
As you skipycount in 4's, 5 <: CONN = 2 20 = 2 =
what number comes before ... ’ @n 10 x 10 = 10 x - 80
© 20 ‘ 28 ‘ Ol 40-: =5 |[35:5-
As you skip countin 4's, :>-,<= o 7 x 3 < 3 x - 18
what number ¢omes between...
- 4 12 ‘ 32, 40 @) 24 - = 4 36 + 4 =
Work out how many groups of 4 6 Gy 8 x 2 = 2 X = 14
would be in these numbers. (32) 70 = = 10 60 + 10 =
G":Uj’s @) 6 x5 = 5 x = 45
[0}
® 16 4 32 GH 27 = = 3 15 = 3 =
© 40 8 @) 5 x 4= 4 x = 40
(10) 28 12 (36) 25 = =5 100 + 10 =

Copyright © 2014 AWS Publications Ltd

45

NAL2b



’ Name:

/
;/@ I am revising working with fractions.

What do these fractions mean?
Fill in the missing numbers or fractions.

@ %¢>loufof2 loutof 4 & ——
@ % & outof |loutofb6 & —
® % & outof |loutof3 & —
@ % < outof |4outofbe —
®) % < outof |HBoutofb < =
®) % < outof |7outof 84 5+
™ % < outof |4outef9 & —
®) % < outof _|6GouFof7 <, ~&
© % < out'of p3outof 6 T
(10) % < “out of | bouhof 8 & —

What fraction is coloured in?
Write your answer,ds.asfraction.

(12)

N T !
‘ l\\,,/‘ \ w

a5 NN @
A ‘

M N S

3 —

14 —

)
@

L

(15 —

Sy 1
(16 — e
- o
)

Use colouring in to show you
understand these fractions.

a7) L — 2

2 [\ 3
18) A A

3 (7 7 L\ j/ \:\ s 2
ag |00 G 0 RS

1000, 7, 5

/ A O

o | L 2
£ 15 s @0

(21) i AQQO/\ i

(22)

4 7

DL
L

Waerd problems.

Ifryou have $100.00 and
spend 3 of the money,

@3)
how much have you spent?

If you have $45.00 and
spend # of the money,

(24)
how much have you spent?

If you have $1000.00 and
spend 7 of the money,

(25)
how much have you spent?

Y\
SH 4

If you have $90.00 and

bank 3 of the money,
(26)

how much have you banked?

1]
oomg
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41 | Name s
g I am revising using multiplication facts | Work out each fraction of these numbers
to find a given fraction of a number. by using known multiplication facts.
What is one quarter of 32? 1) 2x 6 =12 o Jofl2=6
(Writtenas § of 32 =2 or § x 32 = ?)
This is the same as working out how (12) 10x =80 © gof80=
many groups of 4 there are in 32 _ 1 j
or finding 4 x 2 = 32. e Ox =45 @ 5of4s=
Answer: 8 groups of 4, (14) 3 x - 15 & 10£15=
as 4x 8 =32 theniof 32=8
: = v =
Work out each fraction of these o & ai : S®
humbers by using groupings. (16) 2x) =18 & 4of18=
N ( — / =14 @ 10 x =70 & 1 of 70
Zgr'oupsof7-14,so 30f14=7 (18) 5x “=40 & {0of40s=
2 _ 1 _
. 000000000@ > » i) - yr-
10 groups of = 50, so 11—0 of 60 = (20) 2 x = 40 &> % of 40 =
0w ODOOEED =30 o (lox -100/ 4 4x100-
- 1 _
5 groups of _ = 30,80 5 of 30 = N 5 .35 & 1x35-
g P 4 g
@ & e )= ey 3% 27 & ix27-
3 groups 6f (524,50 3 of 24 =
(24) 4 x =32 & Ix32=
(5) @@@@IZS @5) 6 X =18 & %X18:
4 groups of  28,s0 zof 28 =
pe— (26) 8 x =32 & §x32=
© L 1ow 10,(19‘/‘10 o‘-50
= & 1 =
5 groupstef '\, =50, so 3 of 50 = e 6 x 24 5 x 24
28) 4x =40 < ;x40-=
» 900000 -0 |
10 groups of = 90, Sops; of 90= | ©¥ 3x =21 @ sxal=
@OOOO@» ~ o % = ixu:
®)
6 groups of =30, s0 g of 30 = If you have $16.00 and spend a 7 of
) /\ {)<2\ (\2)/\ 2)[2) ({) @) -1 | the money, how much have you spent?
©@ A
8 groups of =16, s0 § of 16 = ;
o — If you have $36.00 and spend a 5 of
o OIS [\3 3 1303227 |32 the money, how much have you spent?
9 groups of = 27,50 g of 27 =
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42 | Name: TR
g I am learning to use division facts to Work out each fraction of these numbers
find a given fraction of a number. by using known division facts.
What is one quarter of 20? 1) 14 -2 =7 & 1of14=7
(Written as 3 of 20 = ? or 3 x 20 = ?)
This is the same as working out (12) 50 + 10 = & g5 of 50 =
:ﬁ\mc/“r:;rgé)ts;i\e:e are in 20 or o llas 35 - 5 - & 1of35-
Answer: 4 goes into 20, 5 times “ '“ A (14) 15 - § - & 10f15=
as 20+ 4 =5, then}of20=5 b
= S Sl =
Work out each fraction of these o CY)° s S6ad®
numbers by using grouping. (16) 165 2 = © dof16=
- 7)) (714 @ ) 60 + 10 L  §of 607
Zgr'oupsof7-14 so 30f14=7 (18) 40 -5 - & 10f40-=
. 000000000@™ ~ aLd: - 1K
10 groups of = 60, so gpofi60 = 20) 80": 2 = & 10f80-
3) @@@@@”‘5 @) 200 = 10_-= & & x 200 =
- 1 _
5 groups of _ =45,%0 5 of 45 = N 45 o5 & Lx45-
/ﬁ\ Vi P ﬁ\ _
) CEY @ G~ 24 (23) 18 - 3 = & ix18=
3 groups 6f (524,50 3 of 24 =
(24) 36 + 4 = ® 3x36=
=20
(5) @@@@ @5) 30+6: & %X30:
4 groups of 3420, so zof 20 =
» (26) 24 + 8 = ® §x24-=
f’5\’5 '::»”5 5‘-25 °
o LUCHEXNE & 24 - ¢ = & tx24=
5 groupstef '\, =25, so § of 25 = ' °
(28) 32 + 4 = & 1x32-=
» 00RB0OQOD0 -7 1
10 groups of =70, Sops of 70= | @ 30 - 3 = © §x30=
_ (30) 18 + 2 = ® $x18=
v QOO :
6 groups of =30, s0 g of 30 = If you have $45.00 and spend a 3 of
) Y AT AYAY Al @1 the money, how much have you spent?
(9) \/(\2:><2\\(\2j>/\2)[\2)<@<§> - 16
8 groups of =16,s50 gofl6=
— — If you have $90.00 and spend a 75 of
w0 ‘4 AGIAN 4 (4,,/“\4 [4 4 (414 =36 (32 the money, how much have you spent?
9 groups of = 36,50 g of 36 =
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{Pdan1e:

N —
[ |
|

Assessment 5:
I am seeing what I remember so far.

/
%!

What do these fractions mean?

Work out each fraction of these numbers
by using known multiplication facts.

12) 2 x =12 < Jofl12-=
Fill in the missing numbers or fractions.
, 13) 10 x =70 & Fof70=
@ == outof loutof 4 —
(14) 5 x =45 & {of45=
5
@) & 2 & —
TR out of out of 3 as 3 _ 15 & 105 -
®3) %@ outof |[3outofd4 e —ag 4'x =28 <1 x28 =
@) % &  outof |7outof 10« — Workiouteach fraction ofithese
numbers by using griouping.

What fraction is coloured in?

& /‘ ‘\\ '/" S .
Write your answer as a fraction. - < N> Uy €l
o ® ./ 3 goupsof  =21,s0 §of21-=
a Y TN
e 18,09 @ (0 1960 19 @ - 50
(18) g = ( &Y
®) E 8 groups of £ 80,50 g of 80+=
/""'\‘/\"\/ \/ \/\/ eV \‘/\
.. 1303 (3,3 13)(3 (3 (33 =27
Use colouring in to'show,you i W NCANIANY S ANANTANTANY
understand thesesfractions. 9 groups ofd = 27,s0 5of 27 =

TN - g
O © )
i ot P
@) — > a N | AR
2 10 AN ”\\:‘\ 7N
R ) e
5 O0RE
®) e B
ENE N

Work out'edch fraction of ¢hese
numbers by dsing groupings.

©
2 groups of  =16,s0 3 0f 16 =

- 0000000000 -

10 groups of =70, so 7 of 70 =

OOOOO:~

=40, s0 §of 40 =

(11)

5 groups of

Work out each fraction of these numbers
by,using’known division facts.

(20) 12 = 2 = & 3ofl2=
(21) 80 + 10 = < 5 0of 80=
(22) 45 + 5 = & $tx45=
@3) 18 + 3 = < Ix18=
(24) 24 - 4 = & 1x24-=

Word problems

If you have $21.00 and spend a 3 of

@5 the money, how much have you spent?

If you have $18.00 and spend a 3 of

@6) the money, how much have you spent?
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’ Name:

I am revising work on how to create a
sequence of shapes, letters or numbers.

2

Look at each sequence of numbers, letters
and shapes. Work out the next three for

Look at this sequence using some shapes.
What would be the next two shapes?
?

QO OOOo0 2

Answer: The next two shapes are .. € [}

each sequence.

» A+ AN
0

A

A4

w Y Y

Look at each sequence of shapes.
Draw the next three shapes.

OoAQmAQ

€8]

<

(19)

/N ™
s 2% 2()

&)

0AQAQ

(20)

Q9 X OO0 9%

3

goollo oo

(21)

5 [ SN[

()

AoocOAoOo

(22)

gk 00

00,000, %

©)

(23)

(6)

0lo0llao

k2V: LG

Use thesé three letters to

€]

A X
OO IAND
v \4

(24)

H
createld repéating sequence. [

()

SRS () =2

Look at edach sequence of letters or
numbers. Write the next three for each
sequence.

©® s,T,s, 71,5, Tys,

Use'the same three letters to create
a hew repeating sequence.

25) Use these four numbers to

i

create a repeating sequence.

Use the same four numbers to create
a hew repeating sequence.

a0  6,H,6mH,6,H,6, , ,
any 5,E, 2,d,5,E,2,d, , .
12 w,x,2,Z,wW,X,2,2Z, , .
w3 9,9,QH, 99 QH, . .
a» R,6,3,7,T,R,G,3,

Use the same four numbers to create

(15)

4,T,W,56,4T,W,

a third new repeating sequence.

(16)

7,8, W,H,T,7,8,W,
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’ Name:

| X

@f I am revising work on adding numbers
Z to a sequence.

Look at this sequence of numbers.

Answer: Add 3 each time, so it would be 13 & 16.

Look at each sequence of T
numbers that involve addition. &=t
Work out the next three numbers.

w  2,4,6,8,10, 12, 14, '

@ 1,3,5,7,9, 11,13, , .

® 6,16, 26, 36, 46, . ’

@  3,8,13,18, 23, ; ,

® 1,5,9, 13,17, ) .

(6) 1,4,7,10,13, , .

@ 2(6,40, 14,18, . .

Look at each sequence’of numbers
that involve subtragtion.

® 100, 98, 96,94, 92, \ :

© 152,142, 132,122, ,

(10)

100, 97, 94, 91, ' ‘

(11)

70, 65, 60, 55, 50, . '

(12)

69, 64, 59, 54, 49, . '

(13)

57,53, 49, 45, . .

(14)

140, 136, 132, 128, ,

Look at each sequence of numbers that
involve either addition or subtraction.
Work out the next 3 numbers and under
each sequence write how each was created.

61,63, 65, 67, 69, . .

Add 2 to each new number

(15)

1,4,7,10,13, . '

(16)

14,24,34, 44, 54, ’ ,

@

60, 55, 50, 45,40, . )

(18)

TNL7,75,73,71, . '

(19)

33,37, 44745,49, . '

(20)

3/x34, 31, 28, 25, , ,

(21

16, 21, 26, 31, 36, . '

(22)

89,79, 69, 59, 49, . '

(23)

78,74,70, 66,62, . '

(24)

32,35, 38,41, 44, . '

(25)

49, 45, 41, 37, 33, , ,

(26)
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o = S
/ T am learning how fo create a sequence | More subtraction sequences ...
>* having been given a rule. m Creating a sequence
Starting with 3, create a sequence (15) -4 | 29, ) ) )
by adding 5 to each number created.
+5 +5 +5 +5 +5 (16) -10 124’ ‘ ’ ’ ’
( 1 T T T T T )
17) L
3 8 13 18 23 28 5 83 ' ' '
The sequence is 3, 8, 13, 18, 23, 28, ... (18) -3 |65, , , ,
Use each addition rule to (19) -4 |72, , ; -
work out the next five
numbers for each sequence. @7 Wb | o6, : : :

B e

Creating a sequence

Look‘at the firstwo numbers of each

@ +2 |1, , , , , sequence below'and work out the rule.
Use this.rule to'then work out thé next
@) +10 |7, , , , : four numbersiof each sequence.
@ +5 | 4 , , , , m Creating a sequence
(1) *3 | 1,4, 7| ) ,
) +3 | 8§, , , 7 /
(22) 20,18, , ,
(®) +4 | 5, y ; . .
(23) 2333, , .
©) +3 | 9 ) . ' /
(24) 60, b5, , .
™ 46 4 8, . 4 . .
(25) 1,5, , , .
(8) +3 5, ’ ‘ ’ ’ (26) 5, 10, ’ ’ ‘
©) +5 |9, y . . 4 @ 30, 27, , ,
(10) +4_| 2, , , , . (28) 100, 90, , ,
Use each subtraction rule to (29) 35
work out the' next five
numbers for each sequence. ) 40, 36, ' :
m Creating a sequence (31) 9 12
(11) -2 | 29, , . , , (32) 6,11, , . .
12) -10 | 119, , . . . (33) 79 77
(13) -5 |72, , , . , (34) 8, 16, , , .
a4 -3 56, ’ ' ' ‘ (35) 6/ 12/ ’ ' ’
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N e —— e
|
[ '

{Pdan1e:

@4’ Assessment 6:
> I am seeing what I remember so far.

<

Look at each sequence of shapes.
Draw the next three shapes.

oAOoAQmD
00AQA

[:j:>> ?VZ <i:::] ZAX [:::>>

Look at each sequence of letters or
numbers. Write the next three for each
sequence.

k,U,k, U,k U,Kk, , ,

€8]

&)

3

()

® 9w 9 w9 w,9, , ,

© A,4,B A 4,B A, 4, ’ .

Look at each sequence of numbers, letters
and shapes. Work out the next three,for
each sequence.

c 7(4[}e7(
N OQ ¥'Ss
Al lms Al

Look at each sequence of

€]

()

(9

(10)

1,3,5,7,9,11,13, , ,

(11)

3,8,13,18, 23, . .

(12)

4,14, 24, 34, 44, , ,

(13)

2,6,10, 14,18, . '

(14)

1,4,7,10, 13, , ,

Look at each sequence of numbers
that involve subtraction.
Work out the next three numbers.

(15)

100, 97, 94, 91, . .

(16)

90, 80, 70, 60, . '

an

7,12,17,22, . '

(18)

70,465,60, 35, 50, , 4

(19)

69,64,59, 54, 49, . '

Use.each addition & subtraction rule to
work out the next five numbers y
for each seguence.

B

Creating a sequence

(20) +24 | 8, , y . .
@1 -10 | 93, , , , ,
22) +5 | 8, , , . .
(23) -3 136, , , , ,
(24) +4 |7, , , , ,

Look at the first two numbers of each
sequence below and work out the rule.
Use this rule to then work out the next
four numbers of each sequence.

B e

Creating a sequence

(25)

1[ 5/ ! ! !

(26)

19,17, . . '

(27)

87,77, , , ,

(28)

15, 20, , , ,

(29)

1[ 6/ ! ! !

(30)

62,57, , , ,

(31)

32/ 29[ ! ’ !
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’ Name:

\‘ —  —2 [
:'K: s »

Assessment 7:
I am seeing what I remember so far.

&

Work out the answers by adding or
subtracting in order the 1's, 10's & then
100's.

W 252+434-=
100's | 10's | 1
@ 948-334-=

Work out the answers by adding in order
1's and 10's.

Show working

K |
® 21+59= I's: toE
10s: + + =
10s | 15 HETPH . =
“ 29+68=
10's: +O.+ =

Add these numbers by first rounding % ME*

to make to 10 or a multiple of 10.

(5) 19+7 = 5 =

(6) h+28 = + =

Subtracthese humbers by first rounding
to maké 1010 or a multiple of 10.

) 42 -18 = - =

Work out how many groups in each
number and what is left over.

How many groups? What is

left over?
a1 2's = 11
12) 3s =19
13) 4's =331

Fill in the missing humbers<or, fractions.

N

14
(14) 3

out of ‘3ou‘rof4<:> —

What fraction is.coloured in?
Write your answer as a fraction,

=
/’“\ L4 "’ N
(- OF) )
\ VA S

Workiouteach fraction.ofithese numbers
by using known facts!

(15)

(16) 5 x 245 < zof4b-=

o=

) 18% 3 = & $x18=

Work out the next three numbers.

(18)

1,3,5,7,9,11,13, , ,

()

58 - 29 = - =

Use the boxésteneach number line'te help
work out each subtraction.

+ +
64 - 19 =
©) «——¥ Y N
0]
Add these numbers, 4 5
10  starting with the 3 9 2
right hand column. + 8

(19)

3,8,13,18, 23, . .

Use each addition & subtraction rule To
work out the next five numbers :
for each sequence.

B e

+2

Creating a sequence

13[ ! ! ’ !

(20)

(21)

-5

93[ ! ! ! !
Work out the rule and the next -
four numbers of this sequence. %

Creating a sequence
(22) 1/ 5[ ! ! ’
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’ Name:

\‘ —  —2 [
:'K: s »

g Assessment 8:
> I am seeing what I remember so far.

Work out the answers by adding or
subtracting in order the 1's, 10's & then
100's.

100 | 105 | 15

@ 516+282-=

100's | 10's | 1

@ 274+325+=

Work out the answers by adding in order
1's and 10's.

Show working

T |
® 56+34= I'ss + =
10's: + + =
10s | 15 HETPH . =
@ 37+47-=
10's: +@.+ =

Add these numbers by first rouhding -
to make to 10 or a multiple of 10. Pe-

(5) 49 + 6 = + =

(6) 7 + B8 = + =

Subtracthese humbers by first rounding
to maké 1010 or a multiple of 10.

™ 75 -29 = - =

Work out how many groups in each
number and what is left over.

How many groups? What is

left over?
(CEN 2's = 19
(12) B's = 44
13) 10's =83

Fill in the missing humbers<or, fractions.

N

14
(14) 10

out of ‘3ou‘rof5¢> —

What fraction is.coloured in?

Write your answer as a fraction,

0,000
09000

Workiouteach fraction.ofithese numbers
by using known facts!

(15)

(16) 10x /=70 <© £of70-=

an

200 4 =

Work out the next three numbers.

(18)

1,4,7,10, 13, 16, , ,

®) 92 - 38 = - =

Use the boxésteneach number line'te help
work out each subtraction.

+ +
71-27 =
(©) «— ¥ Y N
— 1NN
Add these numbers, 3 4
10  starting with the 5 8 7
right hand column. + 6

(19)

78,68,58, 48, 38, . '

Use each addition & subtraction rule to
work out the next five numbers '
for each sequence.

B e

+3

Creating a sequence

(20)

11

’ ! ! ! !

(21)

-4

87[ ! ! ! !
Work out the rule and the next -
four numbers of this sequence. %

Creating a sequence
(22) 2[ 7/ ’ ! ’
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Assessment 9:
I am seeing what I remember so far.

&

Work out the answers by adding or
subtracting in order the 1's, 10's & then
100's.

1005 | 105 | 1 |
@ 212+481=

100's | 10's | 1
@ 614+334-=

Work out the answers by adding in order
1's and 10's.

Show working

T |
@ 23+47-= Iss  + =
10's: + + =
10s | 15 HETPH . =
“ 38+55-=
10's: +@.+ =

Add these numbers by first roundingﬁi

to make to 10 or a multiple of 10.

(5) 16 + b = 5 =

(6) 6 +37= + =

Subtracthese humbers by first rounding
to maké 1010 or a multiple of 10.

™ 53 -17 = - =

®) 61-38 = - =

Use the boxésteneach number line'te help
work out each subtraction.

+ +
75-17 =
©) ¥ Y N
EE QD
Add these numbers, 9 7
10  starting with the 6 5 3
right hand column. + 8

Work out how many groups in each
number and what is left over.

How many groups? What is

left over?
11) 2's = 16
12) 3's =13
13) 4's =27

Fill in the missing humbers<or, fractions.

(a4)

%¢> out of ‘6ou‘rof8¢> —

What fraction is.coloured in? 7ok =
Write your answer as a fr‘ac'rion ‘
—

Workiout'each fraction.ofithese numbers
by using known facts!

(16)

4 x ~

@ 90 % 10 = & % x90-=

Work out the next three numbers.

(18)

1,5,9,13,17, 21, 25, , ,

(19)

39, 34,29, 24,19, , ,

Use each addition & subtraction rule To
work out the next five numbers :
for each sequence.

B e

+4

Creating a sequence

13[ ’ ! ! ’

(20)

(21)

-10

102[ ! ! ! !
Work out the rule and the next -
four numbers of this sequence. %

Creating a sequence
(22) 1[ 4[ ! ! !
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